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~ Vocabulary : (20 #)
Is the pat-down of a person’s outer clothing after a stop to see if the suspect has a weapon
or something that feels like a weapon, which can be seized by the officer.

(A) Search (B) Arrest
(C) Frisk (D) Crack-down
Sharp objects and flammable items are on the aircraft.
(A) prohibited (B) promoted
(C) admitted (D) permitted
Is the crime of deceiving people in order to gain something such as money or
goods.
(A) Piracy (B) Murder
(C) Larceny (D) Fraud
Technical curricula are requisite in a wide range of fields.
(A) assimilated (B) promoted
(C) demanded (D) acquired

. The expansion of public services has caused concern that the civil service branches are

becoming autonomous powers.

(A) independent (B) advanced
(C) superior (D) perilous
. Crowd behavior is characterized as a spontaneous collective reaction to a publicly observed
event.
(A) chaotic (B) gratifying
(C) instinctive (D) uninterrupted

Because of his novel approaches to scientific problems, Edison was able to patent dozens of
inventions.

(A) original (B) varied
(C) coherent (D) unbiased
. The fire salamander is so called because of an antiquated belief that it could withstand fire.
(A) well-developed (B) old-fashioned
(C) carefully fabricated (D) widely held
The engineer had a reason for changing the design of the building.
(A) peculiar (B) legitimate
(C) sharp (D) subsequent



10. The recent downturn in the housing industry the poor economic conditions.
(A) radiates (B) symbolizes
(C) spans (D) synthesizes

= ~ Translation : (30 %)

1. Policy assessment studies in the 1970s cast doubt on the effectiveness of these strategies for
preventing crime. For instance, the experimental study of preventive patrol in Kansas City
found that changing the level of patrol coverage had no effect on crime and citizen fear of
crime. Other evaluative research showed that rapid response to calls for service from citizens
didn’t increase the likelihood of preventing a crime or apprehending an offender. Finally,
evidence from dozens of studies suggests that traditional police strategies to reduce, control, or
prevent crime are ineffective.

2. The safeguards introduced under the Police and Criminal Evidence Act, such as an impartial
custody officer, a right to free legal advice, strict time limits on the length of detention and the
tape-recording of interviews, have subsequently made it more difficult for the police to engage
in ‘fishing expeditions’, to detain suspects without firm grounds for doing so, to make informal
deals with them or to apply physical or psychological pressures to induce them to confess.

3. In a study of miscarriages of justice in the USA where the convicted person had subsequently
been completely exonerated as a result of DNA testing, it was found that the most common
contributory factor was mistaken identity, which occurred in 52 percent of the cases.
Caucasians misidentified African-Americans defendants in 35 percent of the cases, but
African-Americans also misidentified other African-Americans in 24 percent of the cases.

= ~ Reading Comprehension : (20 %)

Concern for the environment in the US extends back into the nineteenth century, when nature
lovers and sports enthusiasts first sought protection for areas of exceptional natural beauty or
significance. But it was not until the late 1960’s that environment concerns entered the
mainstream of American political debate. By then many Americans had come to the conclusion
that more development was not necessarily desirable, especially if it meant more polluted air,
dying lakes and rivers, and a landscape strewn with unsightly waste, and crowded with sprawling
construction projects. In May of 1970, several environmental groups staged the first Earth Day
celebration, designed to heighten public awareness of environmental problems. The success of
that initial effort led to it becoming a regular annual event.

During the 1950s and 1960s, industrial and vehicle pollution levels had become a serious
threat to public health, so the environmental movement of this period focused heavily on
restoring and ensuring the cleanliness of basic air and water supplies. Rapidly expanding
development pressures were also spurring efforts to preserve unique lands and threatened
wildlife habitats, and to protect the endangered species supported by them before they vanished
into extinction. It is generally accepted that the environmental protection movement was So
successful because of its grass roots support; groups of activists in hundreds of towns that took
the initiative in cleaning up their own communities. During the 1970s, this local activism
reinforced support for the passage of key laws at the national level, such as the Clean Water Act,
Clean Air Act, Endangered Species Act, and National Environmental Policy Act, which together

A

B~ 2



have constituted the foundation for environmental standards in the US ever since.

In addition to this national legislation, the year after the first Earth Day, by executive order,
President Nixon established the Environmental Protection Agency (EPS); an organization
dedicated to restoring and protecting the environment. The EPA spearheaded many
contemporary efforts to protect the environment, but it was not working alone. It was allied with a
wide variety of distinctly different and separate organizations ranging from a small number of
well-funded high-profile national and international organizations to many thousands of smaller
special interest groups and even individuals working at the local level. The EPA has now become
one of the government’s largest and most influential regulatory agencies. Through its own efforts
and in cooperation with other organizations, it has earned a large measure of credit for protecting
and restoring the quality of the environment in the United States.

Although one might assume that the cause of environmental protection would engender
universal support, it does have its detractors. One criticism that has been leveled against the
movement is the claim that its predictions about the dire consequences of environmental damage
have often been in error. Environmentalists counter this assertion by pointing out that their
warnings have often brought about changes on the part of the public, the government and private
industry, and that these changes prevented the predictions from being realized. However, just as it
is often very difficult to gauge the impact of human activity on something as complex as the
environment, it is equally difficult to determine which side is right in this debate. Because
environmental issues cover such a wide range of concerns, this is a question that must be
considered on a case by case basis. These voices of dissent have demonstrated to
environmentalists the need to apply quantitative methods in assessing the extent of the destruction
they have witnessed, or the degree to which their work has been manifested in actual
improvement of the environment.

However vocal the critics of environmental protection efforts may be, given the very
considerable body of environmental legislation that exists, it is safe to assume that their views do
not represent the majority opinion. Private advocacy groups, the EPS, state legislatures and
Congress have worked together to enact numerous laws regarding air and water quality, land use
and waste management. That should be evidence enough of the broad extent of the popular
support that underlies the movement.

1. On which of the following does the passage mainly focus?
(A) Earth Day’s impact on the environmental movement.
(B) How to protect the environment of the planet.
(C) The environmental protection movement, and how it began.
(D) The success of the EPA in protecting natural resources.
2. The word spurring in the passage is closest in meaning to
(A) opposing (B) managing
(C) supporting (D) motivating
3. According to paragraph 2, why was the environmental protection movement so widely
successful?
(A) It protected plants and animals people cared about.
(B) It functioned well at the local level.
(C) It voted unsympathetic politicians out of office.
(D) It forced ratification of important national laws.



4. Which president established the EPA?

(A) Roosevelt (B) Clinton
(C) Nixon (D) Obama
5. The word spearheaded in the passage is closest in meaning to
(A) led (B) inspired
(C) conceived (D) modified

6. According to paragraph 4, what was a common criticism of the environmental movement?

(A) Itsuggested measures that would harm the economy.

(B) It predictions could not be prevented through practical action.

(C) That it lacked the support needed to make any real progress.

(D) The environmental damage it claimed was not seen.

7. According to the passage, what effect did the criticism of the environmental movement have?

(A) It caused the environmentalists to change their methods.

(B) It decreased federal assistance for environmental protection.

(C) Itdiminished popular support for the EPA.

(D) It revitalized support for the environmental protection movement.

8. Which of the sentences below best expresses the essential information in the underlined
sentence in the passage?

(A) Critics of the movement were successful in dissuading many environmentalists from
supporting some of the more drastic measures that had been suggested by questioning the
quantitative methods they employed.

(B) Opponents of the environmental protection movement succeeded in getting the activists to
take another, more objective, approach to substantiating their claims.

(C) People who disagreed with the environmentalists eventually were able to persuade many
that the methods employed by the environmental movement were invalid and their
conclusion incorrect.

(D) Members of environmental groups were reluctant to employ quantitative methods in
assessing environmental damage because they felt the results might not substantiate their

claims.
9. The word dire in the passage is closest in meaning to
(A) unrealized (B) possible
(C) grave (D) imaginary
10. The word dissent in the passage is closest in meaning to
(A) opposition (B) support
(C) indifference (D) ambivalence

2z ~ Essay : (30 &)
Write an essay on the following topic: Information technology in policing and its impacts
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(- ) Please describe two examples for each of continuous random variables and

“nominal data” (54 H & F}) relating to fire sciences.(5 47)

(= ) Define “mutually exclusive” and “sampling distribution”. (5 47)

(=) Iff(X)=\/%ze‘§‘x2) then E(X?)=? (No integral!) (5 47)

(= ) Concerning simple random sampling, what distribution does each of the
statistics (z7v7) and (s follow if (L) the population is normal and n is

small? (2) the population is not normal and n is large? (5 77)

L



(7 ) Describe the merits or characteristics of cluster sampling ( & =\t 20E0
y&fhE ) method. (597)
oG E TR AL
(- ) Suppose that fires in a compartment can be classified into three types with
given probabilities: F1: Smouldering fire, P(F1)=0.2; F2: Flaming fire,
P(F2)=0.4; Fs: Flashover fire, P(F3)=0.4. Let D denote the event of death
and suppose that P(D|F1)=0.01, P(D|F,)=0.3, P(D|F3)=0.699, find out the

probability of death of an occupant in a compartment fire.(6 57)

(=) Ifx,,x,,..x,,~ iid N(0O, 1), find out the distributions of the following random

variables : (1) (XZ-x212; (2)(X2+X2+..+ X I(XE+ X2 +..+X2);

()X, IyXZ+XZ+..+%X2 (9 47)

(2) FRAFE R EHEHLIB Y7 PP L o7 dok
TS R 36 S I AR A > B % 30 TR ENE
0.0 T FEMESERELI L1207 o (DB I s
AEBREEHZBER o (DFF - Ll EdH L 7L H BH7 R
w5 270 b e B ? (2=0.05> tss 005 =1.690 tas 0025 = 2.030
' Zooos=1.96) (10 4%)
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(= ) Describe “moment generating function” and “pooled sample variance”
of independent sample t-test.

( = )With linear regression analysis, what does Least Square Method and Normal

Equations mean ?

) Specify a reasonable or suitable probability density function (not mass
function) for describing possible fire risk (i. e. random variable or
function) and its statistics (*vz*&). Also, describe the purposes of
Chi-Square test.

(= ) With reference to simple random sampling, what does the distribution
(if any applies) of the statistics (X;f‘)z follow if the population is
normal and n is small? What does “standard error” mean?

(7 ) Define “significant level” and “power of test”.

7\
Jin

3;
=

—ﬁ-\-\ —\

FEBERFES R L3 P E 2T - T

R R 2 BRI R R R A4 E

RN Rt R R FEERELE > A4

FIACRIF o P - BORIF A B R G o g 9 X
FlA AR (VF) EEBA A FRRF LR AR

(- ) 252 KNO3:S:C575:10:152. 24 kv z

(= ) =4 & C3Hs(ONO)z 2 # it 4

%ﬁ

) A B |

s
S

)
A
A1
-

R LS



Z W E TR

(= ) An electrical firm manufactures light bulbs that have a length of life
that is approximately normally distributed with a mean 40 weeks and
standard deviation of 14 weeks. If 49 bulbs are randomly sampled
from the firm, find the probability that the sample mean of 49 bulbs
exceeds 42 weeks. (7 %4 )

( = ) Suppose that the five random variables X,,X,,..X; , are i.i.d. and each
has a standard normal distribution. Determine a constant ¢ such that
the random variable c(X, +X,)//X3 +X? + X2 will have a t distribution.

(8 %)

(= ) A random sample of 8 cigarettes of a certain brand has an average
nicotine content of 2.6 milligrams and a standard deviation of 0.9
milligram. Construct a 99% confidence interval for the true average
nicotine content of this particular brand of cigarettes, assuming the
distribution of nicotine contents to be approximately normal. (10 4 )

Possibly useful data: (zo02 =1.96 * Z 0005 = 2.58 » P(Z <-1)=0.1587 > tg 0,005 =
3.355 > t7,o_oo5 = 3.499 » tg, 0.025 — 2.306)

w o~ 4p (Na) ~ % it40 (NaOz) ~#iit 4 (ZnsP) ~ mit4r (CaCy)
i gE (ALCs) 2B E k2 1 B ki g2 - FF
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- ~ Vocabulary and Phrases into English or Chinese : (20 &)

1.

2
3.
4
5

il 6. red-handed offender

. BT 7. vehicle impoundment
TFAE T 8. security breach

. p 9. malefactor

ok AR R 10. avian influenza

= ~ Passage Translation : (30 &)

1.

For many years, the law enforcement community has attempted to detect impaired
drivers through numerous innovative efforts and measures. The problem of driving under
the influence is well known throughout society, yet, even with all of the strategies used to
remove these drivers from U.S. highways, it continues to cause needless and tragic loss
of life each year. When will such madness end? When will society no longer tolerate
drunk driving? Until that time, the law enforcement community must attempt to

contain the carnage inflicted upon law-abiding citizens by impaired drivers.

B X7 % W4T (Bank of America)i@ 424 - 3 L F o & ~ YA BE A
BT e j b pPrprafepelmad p 2Ee P FHAEPIFAER
f6 o HP - RN FET SBHAAL F I g o il o ABIE T AF > M
BEPER PR - F B o 2 A28 - HHIRCBE EF RGP R
P fRit R ¥ A EEARATIT M o 2 o R § K - e B IL?A R £ 5 - e
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= ~ Reading Comprehension : (20 &)
Q)

Internet dating has gone from daring to dull. As a result, many singles these days are
looking to their cell phones instead of their laptops in an effort to locate love.

Cell phone technology now allows users to post tiny photographs and mini-profiles to a
dating service mailbox, which can be visited by other cell phone users in search of a date.
When a profile looks promising, users use their phones to send a text message to their person
of interest.

Some phone dating services also are experimenting with ways to turn cell phone into
homing devices. In other words, the phones can alert users to potential dates who may be
just a short distance away — or, at the other end of the bar.

Europeans are heavily into phones dating, and China, which has 430 million cell phone
users, also has embraced “mobile romance.”

The wireless service providers love phone dating, too, because all that text messaging
pumps up their revenues. Analysts estimate that global mobile dating revenues were US
$31 million in 2005; by 2009, that figure is projected to reach US $215 million.

Some people say that phone dating is more about flirting than about serious romance.
“People who want to use their mobile devices are more interested in short-term relationships
than people who want to use their computers,” said an officer of Match.com, a service with a
quarter-million mobile users.

But, who really can say for sure. The next time the cell phones rings, it could be one
calling Cupid.

1. Which is the function the dating service can offer through cell phones?

(A) Alerting users to potential dates.
(B) Increasing user’s revenues.
(C) Holding a wedding.
(D) Giving a gift to possible dates.
2. How can someone get information on any possible date on their cell phones?
(A) By asking the operator.
(B) By making an emergency call.
(C) By using a laptop.
(D) By looking at mini-photos in a dating mailbox.
3. Who may gain the most advantage of cell phone dating economically?
(A) Users.
(B) Possible dates.
(C) The wireless service suppliers.
(D) The store owners.



4. What are cell phone romance seekers often interested in?

5. According to this passage, which of the following statements is NOT true?
(A) Many unmarried people use their cell phones rather than laptops to locate love.

(1

6. Which of the following is NOT a requirement for the job advertised?

(A) Shorter-term relationship.
(B) Getting a new laptop.
(C) Finding other phone users.
(D) Short distance calling.

(B) Match.com has two hundred thousand mobile users,
(C) European people like phone dating.
(D) Internet dating has gone from daring to uninteresting.

Outstanding opportunity with local real estate corporation.
Requires strong background in real estate, financing,
closing. Some legal training helpful. Prefer candidate
with M.A. and two or more years of successful real estate
experience. Broker’s license required. Salary range
$16,000-$23,000 commensurate with education and
experience. Begin immediately. Interviews will be
conducted Tuesday and Thursday, June 10 and 12. Call
for an appointment 243-1153, or send a letter of application
and résume to:

Personnel Department

Executive Real Estate Corporation
500 Capital Avenue

Lawrence, Kansas 67884

(A) At least two years experience.
(B) A broker’s license.

(C) An M.A.

(D) Extensive legal training.

7. The salary range indicates that

(A) everyone earns a beginning salary of $16,000.

(B) the salary depends upon the amount of education and work experience that the

applicant has.
(C) some applicants would earn less than $16,000.
(D) candidates with an M.A. would earn $23,000.



8. What should an interested candidate submit with his or her application?
(A) A current address and telephone number.
(B) A signed contract.
(C) A summary of work experience.
(D) A request for employment.
9. This passage would most probably be found in
(A) the classified section of a newspaper.
(B) a college catalog.
(C) a textbook.
(D) a dictionary.
10. Real estate employees would most probably
(A) persuade people to buy insurance.
(B) sell houses.
(C) give professional opinions on personnel management.
(D) teach people how to do bookkeeping.

z ~ Essay : (30 &)

Write an essay on the following topic. The length of your essay should be no less than 100

words and no more than 200 words.

How to Create an Anti-Graft Society



¢ g B

/ 23S

FRRES
1.

ERAE 1025 AMLFr £ 585

A}

:wﬁﬁﬁp*%
-/ﬂ]‘f—’: /lf"t”}ﬁﬁ

TERER
iﬁ%%4%¢ﬁﬁ$525é;#lﬁo

2.7 R T AR XA ITE 0 R BATEL

Jvi

RIp R EEF TP 2RERERESY 18 i5m K B 2 > W sl
S\ } \‘r s , /{

COz j/w VK D™ R >+ BHFAFE TR RA G~ 2 Xb]5 3B
ELPEAFEECORVERF2ZAGE2PE A A H2Z P
G AEL o F T T2 2580 ha
fwmﬁJ&ﬁ@?%ﬁ@?ﬁ#w@aﬂ%&*?ﬁiiﬁ’#w
THETBRMEPY RS REERM T L ITEZR o RBRE RER
éﬁ#’@zﬁﬁéﬁﬁﬁﬁikéﬁ@ﬁ?ﬂﬁ@&?

i g » l"“/‘r R ’:‘K }’% v ﬁj/’%’ %‘;?IJ“ ﬁ'f' ,‘4\ U o E’._\"}\/;’; ’5’;21:
&Pﬁﬁﬁﬁﬂ7ﬁé$NFANMnﬁﬁg§&ﬁg
7R L (deep seated fires) tim X F Rz 4F M o Fag H
““”“%“ﬁ At L EAEA G RRGTE AR
EJC K/}j Fﬁ%‘ﬁ?@: z?’xﬂ]lé\; Q2 VE (i%—) E';'ﬁ_%’ff‘
G ’%"/ INERGEN % ‘?fu;‘; B o 3R ég AETIE. QR D ,,5 il
'éé?ﬁﬁﬂ@%@%ﬁﬁg

%ww
’: TS _?.: ‘E*\ Ai\:(

e T Ogh S 4

-5\
Cd
“J
P

Ladl s
ﬁ‘ = o

tm

@ 33« AIS\

~mﬁﬂ£w*w%%wgafg

el BRI BB E wREEF AP E L E 2R HEp
7 o

RN A Eir s E i ,;EM/* T RE G~ BT R > BT
A R Sl S R e U R LR RS L
CREF L FIREHT \gwﬁﬂ Lk IR s R
AR ERE ) TRT2 TR FRCVFES T, 27 F g0 'mﬂ% e
ALl miﬁuff%wﬁﬁ#ﬁ%%&i@ N FEE S
Y DT REE S RE A H ﬁ&i%%’i%ﬁﬁ%&%ﬁ’
?%aﬁ%*;@ﬁﬁ)*%i@%%¢ﬁﬁ*a%%iné
P ?

FrpExrREERAE L



PAERLE (025 ERALIII B EBE

P

R L REFT T

i R M - i

i3 L@__,E;ifé?:
L$$%%4%¢ﬁﬁ%525@;#lﬁ°

2.7 PR VAR A ITE o T B o

S H AL (EE  EE AT PA .

m i

-~ F MY EEN TR OET A 5 F %G (Fact Witnesses ) fr
% ¥z= (Expert Wltnesses) SRR ik BRI E PR E
BRP R FED N R ‘frlF‘zﬁ_ﬂmE//ﬂ\'ﬁ AR ?

Iy

UG RFA AL EMANIES D48 - L REFL TR §
2

Z2 G AFIR FIIEARP T A (Admlnlstratlon Review ) ~
#H % & (Technical Review) 4o # % & (Peer Review) ez & »
PECFARFIRY FRORR

SR EFRVRFIEENY O FRPPPEFEIHRNPEF - R
& A~ B (firstresponders) 4~ # &% R.A.CE.chgE £ ’ij‘}u,ﬁ B
EVEEREAD Y F L7 SR AN S HE TS
FEREMF O OERRAREER ORVEIAPEFEARAADIR
ROREFT L o

=
>
=

RS KAk S AT AR R

# S 1 DI
AFERA XPFEAFRSRAL A PN > RS AL L AHE
TR FEAREL IRRPRAESIM AT M P24
IR R FAEVRE QX P LR AT N LRl R ?

I RrE-Er ]



P ERAF I3 FERALII BYBRE

P

s Z‘Jﬂ'l‘ﬁﬁiﬁp’{f%

il RN -

TEARER

. 733485 458> 542 L 204 5 2 2 F o

2.7 PR > VA RAEP KA TE 0 D BIEEE o
37%?%?“7%%’:&—‘57»%?/}0

4.7 ZRAFEH T H I 2 LR

-\

— R B D PR L UL i e ek
ﬂL ok 5‘#% I e L 28 PR & 2

SR E TR AR

(- )Find[Ji"oozz%e‘?*dzl—ﬁ%Z%e**dz (%% fe* az]=2 (7T 4)

(= JLet X,,X,..X,, be a random sample of size 25 from N(0,o?)

I

Determine a constant Ksuch that P(—kﬁ%ﬁk)=0-95 . The
coefficient of variation is defined as the ratio of standard
deviation (S ) to mathematical mean (X ). (18 &)

Possibly useful data: From F tableP(F; =249.052)=0.95
from Z ‘table P(Z 31645) = 095

L



N AL

(- )Could “mutually independent” and “mutually exclusive”
occur simultaneously given that P(E)#0 and P(F)#0 ?
Describe or show your results or proof in terms of event E
and F. (b 4 )

(= JDescribe (1) the difference between “standard deviation”
and “standard error’ (2) total probability theorem. (5
5)

(= )A prisoner is trapped in a cell containing three doors. The
first door leads to a tunnel that returns him to his cell
after two days of travel. The second leads to a tunnel that
returns him to his cell after three days of travel. The third
door leads 1mmediately to freedom. Assuming that the
prisoner will always select doors 1, 2, and 3 with
probabilities 0.5, 0.3, 0.2, what is the expected number of
days until he reaches freedom? (15 4 )
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— ~ Vocabulary and Phrases translation : (20 &)
1 \ %K Fm
2~ Jo B m iz
RN
4~ 518
5~ e o jfg B )J— %
6 ~ a motor bike
T ~ acute stress disorder
8 ~ cloned cars
9 ~ electronic monitoring
0~

10 ~ intelligence apparatuses

= ~Translation : (30 )

1 ~ We have investigated the alarm and there is a small fire on the fourth
floor. The fire department has arrived and the fire has been contained.
We are asking everyone to leave the building in an orderly fashion.
Exit through stairwell B on the south side of the building.

2 ~ As people start using their smart phones to tap into computer networks,
the damage caused by malware could grow more severe. If smart
phones serve as payment devices, malware that nabs your identity and
taps directly into your credit line could follow.

3 ~ In an unprecedented effort to save the species, South Africa has bought
new ships equipped with top-of-the-line military night-vision
equipment. They've also begun testing seized boats for DNA to prove
they were used in abalone harvesting.



= >~ Reading Comprehension : (20 &)

Most people can remember a phone number for up to thirty seconds.
When this short amount of time elapses, however, the numbers are erased
from the memory. How did the information get there in the first place?
Information that makes its way to the short term memory (STM) does so via
the sensory storage area. The brain has a filter which only allows stimuli that
Is of immediate interest to pass on to the STM, also known as the working
memory.

There is much debate about the capacity and duration of the short term
memory. The most accepted theory comes from George A. Miller, a
cognitive psychologist who suggested that humans can remember
approximately seven chunks of information. A chunk is defined as a
meaningful unit of information, such as a word or name rather than just a
letter or number. Modern theorists suggest that one can increase the capacity
of the short term memory by chunking, or classifying similar information
together. By organizing information, one can optimize the STM, and
improve the chances of a memory being passed on to long term storage.

When making a conscious effort to memorize something, such as
information for an exam, many people engage in "rote rehearsal”. By
repeating something over and over again, one is able to keep a memory alive.
Unfortunately, this type of memory maintenance only succeeds if there are
no interruptions. As soon as a person stops rehearsing the information, it has
the tendency to disappear. When a pen and paper are not handy, people often
attempt to remember a phone number by repeating it aloud. If the doorbell
rings or the dog barks to come in before a person has the opportunity to
make a phone call, he will likely forget the number instantly. Therefore, rote
rehearsal is not an efficient way to pass information from the short term to
long term memory. A better way is to practice "elaborate rehearsal”. This
iInvolves assigning semantic meaning to a piece of information so that it can
be filed along with other pre-existing long term memories.

Encoding information semantically also makes it more retrievable.
Retrieving information can be done by recognition or recall. Humans can
easily recall memories that are stored in the long term memory and used
often; however, if a memory seems to be forgotten, it may eventually be

A

B~ 2



retrieved by prompting. The more cues a person is given (such as pictures),
the more likely a memory can be retrieved. This is why multiple choice tests
are often used for subjects that require a lot of memorization.

1 ~ According to the passage, how do memories get transferred to the
STM ?
(A) They revert from the long term memory.
(B) They enter via the nervous system.
(C) They get chunked when they enter the brain.
(D) They are filtered from the sensory storage area.
2 ~ The word elapses in paragraph 1 is closest in meaning to :
(A) continues
(B) adds up
(C) appears
(D) passes
3 ~ All of the following are mentioned as places in which memories are
stored EXCEPT the :
(A) STM
(B) long term memory
(C) sensory storage area
(D) maintenance area
4 ~ Why does the author mention a dog's bark
(A) To provide a type of interruption
(B) To give an example of a type of memory
(C) To prove that dogs have better memories than humans
(D) To compare another sound that is loud like a doorbell
5 ~ How do theorists believe a person can remember more information in a
short time ?
(A) By organizing it
(B) By repeating it
(C) By giving it a name
(D) By drawing it



6 ~ The author believes that rote rehearsal is :
(A) the best way to remember something
(B) ineffective in the long run
(C) more efficient than chunking
(D) an unnecessary interruption
T ~ The word it in the last paragraph refers to :
(A) encoding
(B) information
(C) semantics
(D) STM
8 ~ The word elaborate in paragraph 3 is closest in meaning to :
(A) pretty
(B) efficient
(C) complex
(D) regular
9 ~ Which of the following is NOT supported by the passage ?
(A) The working memory is the same as the short term memory.
(B) A memory is kept alive through constant repetition.
(C) Multiple choice exams are the most difficult.
(D) Cues help people to recognize information.
10 ~ The word cues in the passage is closest in meaning to
(A) clues
(B) questions
(C) images
(D) tests

= ~ Essay : (30 &)

Write an essay on the following topic. The length of your essay should
be no less than 100 words and no more than 200 words. In your opinion,
does "Sunflower Movement"” create a new threat to Taiwan’s national
security ¢
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— ~ Vocabulary and Phrases : (20 & )

(- ) #5547~ % (=) @23 b
(=) pap# F (=) Bz
(=) &R (™) B #
(w) Erck % £ (1) 8% i
(1) 2z () P&l

= ~ Translation : (30 & )

(- ) For at least half a century, police have considered it important to cut to a
minimum of their response times to crime calls. The faster the response, they
have reasoned, the better the chances of catching the criminal at or near the

scene of the crime. (10 4 )

( = ) Officers shall not use their police power to resolve personal grievances (e.g.
those involving the officer, family members, relatives, or friends) except under
circumstances that would justify the use of self-defense, actions to prevent
injury to another person, or when a serious offense has been committed that

would justify an arrest. (10 4 )

( = ) The essence of the police role in maintaining order is to reinforce the informal
control mechanisms of the community itself. Areas where community controls

break down are vulnerable to criminal investigation. (10 4 )



= ~ Reading Comprehension : (20 & )

Another large-scale study conducted by William Spelman and Dale Brown and
published in 1984 was also to challenge a core police assumption of that period —
that improvement in rapid response to calls for service would lead to
iImprovements in crime fighting. This study was developed in good part because
of the findings of a prior investigation in Kansas City that found little support for
the crime control effectiveness of rapid response to calls for service (Kansas City
Police Department 1977). With support from the National Institute of Justice,
Spelman and Brown investigated 4000 victims, witnesses, and bystanders in
some 3300 serious crimes in four American cities. This was another major study
in terms of the resources brought to bear and the methods used. Again it
examined a strategy that was aided by technological advances in the twentieth
century and that was central dogma of police administrators — that police must get

to the scene of a crime quickly if they are to apprehend criminal offenders.

WH U IPRF P E2w EUTRRE (F3E2 4 )

(- ) Spelman and Brown %= 3 3F £ % 4 3t 98— & 9

(= ) 1 Spelmanand Brown %= 3 2_ 7 » RiB 53 ER 5 Gl sg W g 7

(= ) Spelman and Brown 747 3 Z_AvR BN ent $F T8 (7 9

(2 ) Spelmanand Brown #= 3 cn@ H#FTAHL AW E p BB F RS ?

FTWHE LN EF P e w EUTRRE (FRE3 A )

(7 ) Spelman and Brown #7& P8 cr= 7 B3R 2_H A ?

(= ) % Spelmanand Brown #= 3 2w e A2 7 > F @A L F IR 7

(= ) Spelman and Brown # 3 7% & 4L k p 4000 BA 5 % > 2P 7 %
S N I

( ~ ) “dogma of police administrators” g, & & @ ?

z ~ Essay : (30 &)
Write an essay on the following topic. The length of your essay should be no less

than 100 words and no more than 200 words.
“Mobile Police Station” and its Impacts
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:)ﬁuﬁ%iWﬁﬁﬁ?%ﬁ%@’ﬂ%%J~Tﬁﬁ%ﬁﬁaiﬁw%ﬁ
(REERIBREEIR  KBERITREFHEAT ) > T 2B R
TR RE AR (FOVER) ¥ S R p sl gt p tenl B oo (13 4)

Z ~FEwETIIRAE
(=) PFZwzFE? (54)
- ) B AT IEL T NG CHsO07 ) 3838 1 o7 A RENIE LT 5 £
(10 A~ )
(Z) #FEP FH 2B AP > @b 420%™ &S (kg/min) > ¥3+8
R RHIZEF O F S (Kg/min) o (10 4 )

Z T ETAIRAL
(- ) Suppose a tank contains 1000gal of water in which initially 100 Ib of salt is
dissolved. Brine runs in a rate of 10 gal/min. And each gallon contains 5Ib of
dissolved salt. The mixture in the tank is kept uniform by stirring. Brine runs
out at 10 gal/min. Find the amount of salt in the tank at any time t. (8 4 )
( = ) Find the general solution of y"—-5y’+6y=-3sin(2x). (8 4 )
( = ) Solve the initial value problem. (e**¥ + ye”)dx+ (xe’ -Ddy =0, y(0)=-1. (9 4 )

R LS



2 ~ Find the solution of the initial-boundary value problem.

2 2
(=) 6—¥=C26—¥ for 0O<x<L,t>0, y(Ot)=y(Lt)=0 for t>0,
ot OX
y(x,0) =0, and %(x,0)=g(x) for O<x<L. (12 » )

ou

o%u
(=) 5;=k53-kw O<x<L,t>0, u(x,0)=f(x),for 0<x<L

u@©0,t)=T,, u(L,t)=T, for t>0. (13 &)

L 2
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(10 4)
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- ~ Vocabulary and Phrases : (20 4*)

1.digital evidence

2.informant
3.INTERPOL

4.polygraph

5.in the line of duty
soon after the police force put

6.The violence outside the city hall

down the riot.
(C) redirected (D) instilled

(B) subsided

(A) expired
7.The police the whole area after fires were discovered in the
high-rise building.
(A) cordoned off (B) congested with
(D) emancipated from

(C) posted to
against the death sentence to the Supreme Court.

(C) adjusted (D) appealed

8.The accused

(A) adhered (B) accommodated



Q. IS a person who is involved with another in the commission of a

crime whether as a principal or as an accessory.

(A) Escort (B) Accomplice (C) Abettor (D) Informant
10. He gave a to the police telling them how he killed his wife.

(A) commitment (B) narrator

(C) commandment (D) confession

= ~ Translation : (30 &)
(=) ¢f& (10 4)
IR ARRT O PRRELD FERE  F o THEFERFE R
A2 Efrahpie c ARTH{RE LR EPHMEFIRE TR AR
EHpEs ~FREEH BB ER AT EE S FEAF T R R
e A

/
EREFPRFT ODEAE AR RERPE RS VRANRT

R
7

(=) &= (20 4)

1. The treatment to be given the offender cannot alter the fact of the offense, but
we can take measures to reduce the chance of similar acts occurring in the
future. We should banish the criminal, not in order to exact revenge nor
directly to encourage reform, but to deter that person and others from further
illegal attacks on society.

2.A police officer is permitted to use the amount of force necessary only to
overcome the resistance or aggression that is presented by the subject. When
the resistance or aggression is reduced, the officer must reduce his or her force

correspondingly.

» Reading Comprehension : (20 &)
(=) T w 5% 141 % 54
Marco Polo literally changed the Western view of the world. European maps in

i

his time were _1 on Biblical interpretations and classical mythology.
Jerusalem was at the center. At the margins the map-makers drew monsters and

savages, because there, _2 the Christian center, Nature herself was believed



(

to be monstrous. Then _3  Polo’s book Travels, describing great civilizations
in the East, and a world not centered on Jerusalem, politically or
geographically. This recasting of the world into a more dynamic and
multi-centered geographical space was the first step toward _4 we now call
globalization. Travels appeared in popular anthologies circulating in Europe in
the 15th and 16th centuries. Christopher Columbus had an early copy, and
made notes in the margins. He later _5 America while searching out a

western route to Polo’s Cathay.

1. (A) based (B) place (C) situated (D) supported
2. (A) in the vicinity of (B) far from
(C) in lieu of (D) close to
3. (A) came (B) existed (C) lied (D) stood
4. (A) which (B) what (C) that (D) where
5. (A) jumped into (B) took after
(C) bungled into (D) diverged from

FiETw ES 6481 % 1048

In recent years, issues of public and personal safety have become a major
concern to many people around the world. Violent incidents in fast food
restaurants, parking lots, hospitals, schools and colleges, and shopping malls
have led many to seek greater security inside their homes and in many public
buildings and areas as well. Sales of burglar alarms, motion detectors, and
closed circuit television systems (CCTV) have skyrocketed since 2000.
Convenience stores, gas stations, jewelry stores, and even the postal service
have barricaded their staffs behind safety glass enclosures and focus cameras
on many work stations that involve handling money. Communities employ
private security forces and encourage homeowners to install alarm systems and
other security devices. While some people sympathize with the reasons behind
these efforts, others have voiced concern that these measures are helping to
create a siege mentality. There is fear that such a mentality will lead to a
general distrust of others among people that could foster a dangerous isolation
within neighborhoods and among neighbors.



6.The passage suggests which of the following about community security?

(A) Communities are more dangerous today than they were before the year
2000.

(B) Too much concern for security could destroy trust among neighbors.

(C) Poor security has led to an increase in public violence.

(D) Isolated neighborhoods are unsafe neighborhoods.

7.The word foster in the last sentence most nearly means

(A) adopt (B) encourage (C) prevent (D) secure

8.The author believes that

(A) More security is needed to make neighborhoods safer.

(B) People should spend more on home security.

(C) People should not ignore the problems created by excessively safety
concerns.

(D) Security devices are the best protection against violent crime.

9.According to the author, security devices have skyrocketed since 2000. What
does it mean?

(A) People like to live a life full of variety of security devices.

(B) The need of security devices has dramatically increased among people.

(C) The prices of security devices are on the increase.

(D) Security devices have changed a lot since 2000.

10.1n the second last sentence, the phrase siege mentality means
(A) hostility (B) defensiveness (C) fear (D) corruption

z ~ Essay : (30 &)
Write an essay on the topic : Police Visibility
Do you agree or disagree with the following statement ?
Increasing police visibility is a good policy to better public security:.

Use specific reasons and examples to support your opinion.
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(=) Let fx)=e* for 0<x<1 ,find the Fourier cosine series and Fourier

sine series for f(X) on the interval. (15 4 )
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— ~ Vocabulary and Phrases : (20 4 )

1~ % &3 6~ % FRr
IR P - 7~ Epigie

3~kHAHE 8~ EFLA RFES
4~ 45 0 Lkt g2
5 M iE FcfE 10~ £ iz

~ ~ Translation : (30 4 )

(-) (P E): Fmp 3 gE PR Ed PR B4 8 QTP hd
Bep NG RRAR 0 P AT NN E G e ME TR PP RS R
R i IS IEH 4 B e R TR T T B R TR
Bipdl o " EmpEr XL ER o

(= ) (English to Chinese) : Buying drugs from a suspect is a direct means of
gathering evidence. Undercover drug operations, though dangerous, is useful in
identifying participants in drug conspiracies. Undercover officers should be
intelligent, reliable, confident, and resourceful, and have good judgment and

excellent communication skills.



= ~ Reading Comprehension : (20 4 )

Qs 1-5: Closest in Meaning Test: Find the sentence that is closest in meaning to the

one given for each question.

1. Police officers are prohibited from firing warning shots under any circumstances;
police officers are also not permitted to shoot at a moving vehicle unless the vehicle
being shot at is being used in an assault attempt.

(A) When their lives are threatened, police are authorized to fire warning shots.

(B) Police officers are never allowed to shoot at moving vehicles.

(C) Police officers can shoot at moving vehicles only if a police officer’s life is
threatened.

(D) Police officers can sometimes shoot at a moving vehicle.

2. “Law must be stable and yet it cannot stand still,” means most nearly that
(A) law is a fixed body of subject matter.
(B) law must adapt itself to changing conditions.
(C) law is a poor substitute for justice.

(D) the true administration of justice is the firmest pillar of good government.

3. We must remember what happened in the past so that it will never happen again.
(A) If we could remember the past, it would not happen again.
(B) In order not to repeat the past, we should certainly not forget what happened
then.
(C) Since we all tend to forget what happened in the past, we do the same mistakes
again.
(D) Those who couldn't remember what happened in the past were more likely to

repeat it.



4. Because of his innocent face, it is difficult even today to believe he was a criminal

although it had been certainly proven.

(A) Today it is possible to understand why people didn't want to believe that he
was guilty as he had an innocent face.

(B) If it had been proven that he was guilty, they would believe that he was a
criminal.

(C) It doesn't necessarily mean that criminals can't have an innocent look.

(D) Despite the fact that he was proven to be a criminal, his innocent face makes it
difficult to believe that.

5. French is the only language other than English spoken on five continents.
(A) French and English are the only languages that are spoken on five continents.
(B) French and English are spoken widely in official and commercial circles.
(C) Before English, French was the only language spoken on five continents.

(D) Worldwide, French is the most widely taught second language after English.

Qs 6-10: Based on the passage below, answer the questions that follow it.

Crime prevention through environmental design (CPTED) grew out of the
concept of defensible space developed by an architect and urban planner. Sometimes
referred to as designing out crime, it has become an important tool for police in
assisting communities in crime prevention efforts. The theory is based on the belief
that design of the physical environment can create opportunities for people to come
together and at the same time can remove the opportunity for criminals to act freely. It
does this by concentrating on a facility’s design, landscaping, and security technology,
including a combination of security and police personnel, to create a series of
preventive measures that combine to reduce problems or disruptions to a facility.
These same preventive measures are meant to provide a sense of confidence to the
public that a location is secure.

CPTED is most cost-effective when included in original design plans because this
saves the costs associated with renovating or moving existing facilities. An example of

a CPTED-based renovation in a mall or a transit facility would be moving the payment

®= 3



area of a parking lot where crimes have occurred closer to where it can be seen by
general users or by the facility’s security officer. In this case, the placement of the
payment area increases safety through the environmental decision of moving it into a
safer area. The same example in a new facility would require someone with knowledge
of CPTED principles considering the placement of the payment area during the design

phase so as to prevent having to move it later.

6. According to the passage, police departments are most likely to use CPTED when
(A) helping communities develop crime prevention strategies.
(B) looking for car thieves on city streets.
(C) designing new police stations.
(D) all of the above.

7. The passage states that CPTED was developed by
(A) police community relations units.
(B) parking lot developers.
(C) a master builder and municipal planner.

(D) private security directors.

8. Based on the passage, CPTED would be least useful when
(A) renovating a suburban train station.
(B) renovating a shopping mall.
(C) renovating a private residence.

(D) renovating a public-access interior courtyard in a museum.

9. According to the passage, CPTED is most cost-effective
(A) in renovations.
(B) in new construction.
(C) when combined with other uniformed patrol tactics.

(D) when combined with plainclothes patrol tactics.



10. As a police officer, you would most likely be expected to have a knowledge of
CPTED as a
(A) homicide detective.
(B) crime prevention officer.
(C) crime scene investigator.

(D) stationhouse sergeant.
2 ~ Essay : (30 & )
Write an essay on the topic: Stress Management in Law Enforcement
No job is immune from stress, but for the law enforcement officer, the strains and

tensions experienced at work are unique, often extreme, and sometimes unavoidable.
In your opinion, how to tackle this work-related stress? Write an essay on this issue.
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(- ) Find the general solution. Y'+4y=x+2"". (8 &)
( = ) Solve the initial value problem.
x2y"+5xy' =21y =0; Yy(2)=1, y'(2)=0. (8 »)
( = ) Solve the initial value problem.

y'-y=5sin°x; y(0)=2, y'(©0)=-4. (9 4 )

S HEET IR
(- ) Find the eigenvalues and the eigenfunctions. y"+8y'+(1+16)y=0;

y(0)=0, y(z)=0.Heres isa parameter. (10 4 )

-k if -2<x<0
(=) Let W=y, & .., forperiod P=4.Find the Fourier series

of the function. (15 4 )
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- ~ Vocabulary and Phrases : (20 & )

Qs 1-5:
1. The police developed as a mechanism to do justice by apprehending offenders and
holding them
(B)accountable (C)appreciable (D)affluent
, police long

(A)admirable
2. Since their primary practical goal was to reduce crime

believed that they were in the business of crime prevention.
(A)ventilation (B)vicinity (C)victimization  (D)viscosity
3. Efforts to concentrate police enforcement efforts in high-risk places, commonly
in controlling

known as hot spot policing, have been found to be

crime.
(A)effective (B)edible (C)enclose (D)excavate
4. Police responses to crime problems can be greatly by securing
productive partnerships with community members.
(C)estate (D)enhanced

(A)emigrated (B)enigma
5. A police focus on controlling disorder has been hypothesized to be an important

way to reduce more serious crimes in
(D)nomads

(B)neighborhoods (C)narratives

(A)nerves



Qs 6-10 : Fill in each of the blanks with a proper word to make the statement complete.
The initial and final letters of the word are given as hints.

6. The procedure for the surrender of an alleged criminal by one state to another

having j n to try the charge is called extradition.

7. Preventive d n allows the judges to imprison anyone who they have good

reason to believe may commit a further crime.
8. If a person is convicted of robbery and sentences to eight years in prison, he or she

will be put behind b s and serve the jail term.

9. The study clearly demonstrates the link between child abuse and juvenile d Y.
10. A voluntary confession is a confession that is given out of a suspect's own free will,

and has not been obtained by force, coercion, or i n.

= ~ Translation : (30 & )

Translate the following short passages from Chinese to English or the other way around.

LF“FR a8~ Mg 2 el Fl ~ 222 2 2 R A4~ 5
FIRFc)e e e HFBIE ~ 2 3 R PAH P EDEPFLE 2L R A M as
% AL -

2. Law enforcement agencies should establish a culture of transparency and
accountability in order to build public trust and legitimacy. This will help ensure
decision making is understood and in accord with stated policy.

= ~ Reading Comprehension : (20 & )
Qs1-5:

1. When a defendant claims that the presence of blood sprinkles on his clothing is due
to the fact that he has touched such clothing with bloody hands, one can
immediately conclude that he is lying.

The fact upon which this conclusion is based is most nearly that

(A) nothing absorbs blood.

(B) blood does not sprinkle.

(C) fingerprints would have been left by the defendant if he had touched the
clothing.

(D) bloody hands will not leave the described mark.



2. The large number of fatal motor-vehicle accidents renders necessary the
organization of special units in the police department to cope with the technical
problems encountered in such investigations.

The generalization which can be inferred most directly from this statement is that
(A) large problems require specialists.

(B) technical problems require specialists.

(C) many police problems require special handling.

(D) many policemen are specialists.

3. In examining the scene of a homicide one should not only look for the usual,
standard traces — fingerprints, footprints, etc. — but should also have eyes open for
details which at first glance may not seem to have any connection with the crime.
The most logical inference to be drawn from this statement is that
(A) in general, standard traces are not important.

(B) sometimes one should not look for footprints.
(C) usually only the usual, standard traces are important.
(D) one cannot tell in advance what will be important.

4. Officer Chang didn't eat anything but small pieces of bread and butter.
The sentence that is closest in meaning to the one given above is that
(A) He ate small pieces of bread and butter but didn't like them.

(B) He only ate some small pieces of bread and butter.
(C) He didn't eat anything, not even the bread and butter.
(D) He didn't touch the bread and butter, but he ate other things.

5. After failing a doping test at the Beijing Olympics, John Peterson was stripped of

his gold medal.

The sentence that is closest in meaning to the one given above is that

(A) At the Beijing Olympics, John Peterson and many others were disqualified after
failing a doping test.

(B) If John Peterson hadn't been tested positive for doping at the Beijing Olympics,
he wouldn't have lost his gold medal.

(C) Since John Peterson confessed having used doping, his gold medal was taken
back.

(D) Although John Peterson failed the doping test, he wasn't disqualified from the
Beijing Olympics.



Qs 6-10 :

Since the early 1990s, the police have become much more interested in a broader
idea of prevention and the use of a wide range of crime prevention _ 6 . The search
for greater citizen satisfaction, increased legitimacy and more effective crime
prevention _ 7  to the traditional tactics used by most police departments led to the
development of problem-oriented policing and hot-spots policing. The operational
paradigms of many modern police departments have steadily = 8  from a
"professional™ model of policing to a community-oriented, problem-solving model.
Growing community dissatisfaction and a series of research studies that questioned

the _ 9 of the professional model’s basic tenets served as catalysts for the _ 10

6. (A) tension (B) trash (C) tactics (D) timber

7. (A) abuses (B) alternatives (C) abstracts (D) amazements
8. (A) evolved (B) enclosed (C) estimated (D) eroded

9. (A) walkout (B) effectiveness  (C) incitement (D) turbulence
10.(A) distort (B) assignment (C) hostility (D) shift

= ~ Essay : (30 # )
Write an essay on the topic : Combatting Fraud

Fraud has been one of the fastest growing crimes in recent decades. The current
epidemic in fraud has been attributed to the rapid growth of the Internet and digital
finance, the vast expansion of mobile phones, and the limited response of law

enforcement agencies. Please describe your opinion about the strategy against fraud.
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- ~ Vocabulary and Phrases : (20 &)

1. Establishing the point at which to arrest someone is an important factor in

determining the of evidence.
(A) admissibility  (B) interpretation  (C) condition (D) execution
2. If you keep backbiting me, I’ll definitely sue you for
(A) deception (B) defamation (C) exploitation (D) persecution
3. A should be ordered on prostitution.
(A) restitution (B) clampdown (C) stereotype (D) getaway
4. The young boy was caught a scooter.
(A) rolling back (B) raking up (C) ripping off (D) ripping up
5. The purpose of traffic control is two-fold, that is, to traffic and to

eliminate potential traffic conflicts.

(A) deter (B) congest (C) approach (D) expedite
6. Officers are instructed not to act towards citizens in the line of duty.
(A) professionally (B) courteously (C) prudently (D) condescendingly
7. Many people believed that the murder suspect’s actions and his continued threat to
public safety would keep him for life.
(A) incarcerated (B) impounded (C) inundated (D) engulfed

8. Report has it that a senior staffer of a leading law firm was accused of
billions of dollars in stock from an American corporate client.
(A) bedazzling (B) embezzling (C) exerting (D) luring



9. If you use other people’s research results without mentioning the original authors, it

Is thought to be copyright

(A) arraignment  (B) infrastructure  (C) infringement (D) moratorium

10. Even after they were arrested, the criminals prided themselves on and bragged

about their advanced technology in ATM devices and counterfeit credit
cards.
(A) bugging (B) preying (C) banning (D) tending

= ~ Translation : (30 &)

(=) ¢ 3 (154)

(=) #g7 (154)
Society has long looked to police departments to deal effectively with crime.
For a long time the public was content with police departments whose primary
role was to apprehend offenders, so society could hold law Dbreakers

accountable for their crimes.

= ~ Reading Comprehension : (20 &)

(=) @7 e v ¥ % 143 % 54 :

Police research demonstrated the need for agencies to evaluate the _ 1  of their
responses. Both quantitative and _ 2  data should be used as a basis for evaluation
and change. Police departments need to know more about what their _ 3  are
doing. Agencies are _ 4  to find enough resources for performing crime trend
analyses; most also do not conduct proper workload analyses to know how much

uncommitted timeis 5  to their officers.

1. (A) extradition  (B) effectiveness  (C) exile (D) episode
2. (A) illegal (B) scanning (C) qualitative (D) vandalism
3. (A) officers (B) factories (C) corporations (D) income

4. (A) preventive (B) struggling (C) approaching (D) peacemaking
5. (A) detective (B) perspective (C) reductive (D) available



(Z )T w %% 641 % 1048 :

The key to understanding organized crime is to recognize that, like corporations and
other businesses, it exists for a single purpose: to make a profit in a capitalist
economy. The key difference between organized crime and “legitimate” businesses is
that organized crime often makes much of its profit from illicit goods and services
and organized crime is prepared to use illegal means and practices, including violence,
to achieve its profit-making goals. Like legal businesses, organized crime also seeks
to gather and harness political power to assist in the conduct of its business. Once
again, however, organized crime is prepared to pursue that goal, if necessary, through
recourse to illegal methods. Actual violence is rare in organized crime activities, and
is usually related to street-level activities. While violence is bad for business, the
potential for violence is often enough to give organized crime networks a distinct

advantage in the marketplace.

6. According to the passage, the author discusses
(A) illicit enterprise and profit-making.
(B) organizational strategy of a legitimate corporation.
(C) violent interactions among corporations.
(D) organizational structure of organized crime groups.
7. Based on the passage, which statement is correct?
(A) There is no difference between organized crime and legal businesses.
(B) Actual violence is usually used by organized crime networks to occupy market.
(C) Political power can help organized crime to pursue illegal profits.
(D) Organized crime will use political power to pursue benefits, but corporation
won’t.
8. Organized crime often makes much of its profit from
(A) charity.
(B) loan-sharking, gambling and pornography.
(C) big data analysis of market.
(D) state-run businesses.



9. According to the passage, which statement is incorrect?
(A) Making a profit is the purpose for organized crime.
(B) Making a profit is the purpose for legal corporation.
(C) Even violence is not good for business, it is still helpful to organized crime
networks.
(D) Organized crime attempts to accumulate and use political power, by legal
approaches, to assist in the conduct of its business.
10. The word ""advantage™ in the last sentence most nearly means
(A) handicap.
(B) hindrance.
(C) burden.
(D) benefit.

z ~ Essay : (30 &)

Write an essay on the following topic. The length of the essay should be no less than

100 words and no more than 250 words.

The Use of Police Force

The use of force is a double-edged sword for the police. Used properly, force can help
bring criminals to justice. On the contrary, excessive or poor force use may lead to the
criticisms of state violence or public servants' inertia. What are the keys to a

reasonable and justifiable use of force? Write an essay on this issue.
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Rate of flame spread on an inclined surface
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Figure 7.10 Rate of spread of flame on an inclined surface. 60 mm wide samples of PMMA: (a)
without (®) ‘sidewalls’ and (b) with (M) sidewalls (Drysdale and Macmillan, 1992)

2~ If the wall is composite, consisting of various layers as shown in Figure,
the net heat flux through the wall at the steady state can be calculated by
equating the steady state heat fluxes across each layer. The temperature
of the air in contact with each surface is shown T4, T, etc.
(Tp>T>...T4> T.). Please calculate the net heat flux from Ty, to T, ?

I—i"‘\
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~ Vocabulary and Phrases : (20 4*)

. Generally, law enforcement must obtain a search to conduct a
search of a person or premise without their consent.
(A) prosecution (B) conviction (C) warrant (D) baton

. Crime scene Is the process of determining the sequence of

events, criminal activities, and logical predictions about what occurred
during and after the crime.
(A) investigation (B) reconstruction (C) evidence (D) experiment

. A wrong decision could seriously the prospect for the

organization. We must think it over carefully before making the decision.
(A) jeopardize  (B) reimburse (C) languish (D) hallucinate

Retaining the status of nationality, even at the cost of economic
independence, is of critical importance to the Ojibwe tribe. It’s a
sovereignty produced by colonization.

(A)paradox (B) paradigm (C) parable (D) paradise

. Mr. Hamilton usually isn’t one to show much emotion. His normal smile

barely curves the corners of his mouth, and his cool Is marked

by a voice with a steady, confident tone.
(A) demeanor  (B) aurora (C) avarice (D) deposition

a2

2<1



6. The cookbook contains a wonderful for roast chicken.
(A) system (B) spell (C) vehicle (D) recipe

7. Before Sally and John divorced, they tried a

(A)widow (B) wedding (C) sequence (D) separation
8. to your goals and never give up.
(A) Stall (B) Stink (C) Stand (D) Stick
9. The local hospital is very good, and all the members are very
kind and friendly.
(A)staff (B) stuff (C) private (D) personal

10.Two important secrets for a long life are regular exercise and

from worry.
(A) hope (B) happiness (C) freedom (D) fear

= ~ Translation : (30 4*)

1. Citizens call the police department for many reasons — crime report, fire,
alarm, assault, prowler, suspicious circumstances, suspected child abuse,
domestic disturbance, noise complaint, crowd control, legal advice, asking
directions, lost/found property, vehicle accident, disturbing telephone calls,
parking problems, blocking driveway, blocking sidewalk, stolen vehicle,
stolen vehicle recovery, officer complaint, person down, dead body,
missing person, medical emergency, etc.

2.5 - BUFFLZES  RENRI SRR ML LI L
FERZHFEFE > L ERIL I FEEZ2 P ETEIRIIER/RFF 2 AR
TR P IR/RFERNNTZ L CREAFERPFEIE 72 PRI LN
S Fgg . 4 @x%_s%}gf#f%g T



= ~ Reading Comprehension : (20 &%)

1-7 %%

Turkey’s annual information technology fair, CEBIT Bilisim Eurasia, this
year aimsto 1  a diverse crowd into the e-society debate, especially
2 the use of Internet technologies in government. Cebit Bilisim
Eurasia expects to host visitors from over 70 Countries 3 members of
the press from nearly 20 countries. = 4  the theme of “Competitive
Edge”, Bilisim Summit 2007 and Forum Bilisim will discussto 5 the
competitive power of countries, organizations and individuals 6 ICT
technologies. CEBIT Bilisim Eurasia = 7  this year at the TUYAP

Beylikdiizu Fair.

1. (A) implement (B) attract (C) innovate (D)analyze
2. (A) concerning (B) to have concerned

(C) having concerned (D) concerned
3. (A) much as (B) similar (C) as well as (D) like
4. (A) Among (B) Under (C) From (D) Between
5. (A) perform (B) instigate  (C) mitigate (D) improve
6. (A) by using (B) only used (C) for using (D) to use

7. (A) isstaging  (B) was staged (C) will be staged (D) has staged

8-10 42

Denver police conducted a search on Tuesday of a house at 720 S. Colfax.
Officer Vincent Sully says he noticed someone moving items from a vehicle
into the house. Many of the items matched the description of those recently
stolen from area homes. “This fact,” says Officer Sully, “provided reasonable
belief that this was our suspect.” According to Federal Law such suspicion is
grounds to carry out a search. Police Chief Mancini explains, “The
circumstances did not require the authorization of a search warrant.” The
suspect’s lawyer plans to challenge this view, claiming that the search was
illegal. It is unlikely that this argument will be accepted and the charges will
most likely not be dropped.



Upon conducting the search, officers found what they were looking for,
and more. In the suspect’s vehicle they found three flat screen television
identical to those that disappeared in Sunday’s Water Street robberies. Inside
the suspect’s residence police found thousands of dollars’ worth of allegedly
stolen goods. Among the many items confiscated in the seizure were a ski
mask and a black painted crowbar. Witnesses have reported seeing a thief in
a similar mask break in to cars and houses with a crowbar. Possession of
these objects could connect the suspect with those other burglaries. The
suspect was arrested and an awaiting trial.

8. What is the article mainly about?
(A) The result of a trial
(B) A search and its outcome
(C) A series of violent robberies
(D) A criticism of unwarranted searches

9. What can you infer about illegal searches?
(A) They can result in dropped charges.
(B) They are based on reasonable belief.
(C) They can seize evidence from homes.
(D) They can provide the basis for a warrant.

10.What is NOT evidence against the suspect?
(A) A crowbar
(B) A ski mask
(C) Televisions
(D) An automobile

z ~ Essay : (30 &)
Write an essay on the following topic. The length of the essay should be no
less than 100 words and no more than 250 words.

How does epidemic outbreak impact on the role of police officers ?
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